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Date_______________________


TEKS Target Practice, Set 2
1)
Write the number.


Eighty-four thousand, seven hundred ten:________________________________
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2)
Circle the transformation represented by the shapes.







translation



rotation



reflection

3)
Complete the family of facts for: 12 minus a number is 5.
   _________________________










   _________________________










   _________________________










   _________________________
4)
Which metric capacity unit would you use to measure a big bottle of soda? ______________


5)
Find the perimeter of the shape._______________
6)
What fraction is shown by the model?



7)
Tim is shorter than Cal and taller than Herb.  Cal is shorter than Brian.


Who is the tallest? _____________________


Who is the shortest? _____________________

8)
36 lemonades. 83 colas.  How many more colas than lemonades? _____________________

9)
120 minutes = ______ hours.
10)
Are the figures congruent?   YES  NO 

11)
Which best describes lines m and n?:

parallel








perpendicular








intersecting

12)
Estimate the answer.  717 


13)
Solve.   717
        – 290



          – 290
14)
What is the total?     _______________

Cost of 5 baskets








teapot
$15









picture
$9








basket
$7
15)
Solve the problem.


   



16)
What is the total least and the total most (range)?



Least expensive
$6


Least ______________


Most expensive
$9


Most ______________
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